RS 2 ERRAY B [3sE RS IEHBleY EEpBEEs 2 o w owir

SRR
DA FF 2R (a+b)?=a*+2ab+ b’
209F 52K (a-b)=a’-2ab+b’
FHEMR 1 a*-b*=(a+b)a-b)
DEEA=AVERRELa b #EkBc A c’=a’+b’°
~b+\/b - 4ac

2a

O —gm-xFXal+bx+c=0wmsh x=

- FRBE(FHEL L)
1. (C )T IR R - o A ARRNT?
(A 2¥+5x—3=2¥—5x+4 (B) 3¥—x=—1 (C) (3—x) (2—x) =0 (D) ¥+5x—84

2. )T Sl in ¥ BAE?

(D) 1 & —X¥—bHx+4=0 - Bz (B) 0 #_9¥=—2xer— B fz

(©) 2% (2x-3) (x—2) =1 Bjz <D>§5L<5x—3> (3—x) =0 Bj2
3. ( VE x=—1 5 3X¥+nx+2=0h- Bz > KphiE

(A) 5 (B) 11 (C)-7 (D)-1
4. ( )fE- ~z &3 N (x—2) (x+3) =6

(A) x=4 & x=—3 B) x=—4 & x=3 (C) x=2 & x=-—3 (D) x=8 & x=3
5. ( VE AN X¥taxt =025 28 —1> Ka- hihiE

(Ma=1+b=2 (B)a=—1-b=2 (C) a=—1>b=—2 (D) a=1 > b=—2

6. ( )R- Az =3 At (2x—5) = (2x—5) (x+2)

(MDx=—2(£12) (Bﬁgﬁxﬂ m>Fg§xﬂ <mF—2§F§
T.( F ¥—xta= (rmb) T Al 2D
4 4 2 2 4 4 4 2
A = — b = — B = — b = — = b = —_— D = b g —
()a7b7 ()a7b7 (C)a49b49 ()a49b7
8. ( )E 3 AN X —10x+p=0 ¥ e+ (x—q)’=h 58 s p—qhiEE st ?
(M) 5 (B) 10 (C) 15 (D) 20
9. ( VE e X tex+49=0F £43 0 Pl e 7w B A
(A) 14 (B) =7 (C) +49 M 0
10.C )T )= A2t e & 2§ §A2
(A) 2x+2¥=1 (B) 2¥+x+1=0 (C) 3X¥+18x+27=0 (D)—2¥+5=10x
11.C )#j8]- Az 3 258 ¥—5x—h=07¢ chp 5 T 7vi— BHcpF » v b2 25N hd 9% 5 B ?
(A)6 (B)8 (©)10 (D)12
1 2 5 2
12. 8- Ao fEf o ox - 2x=2
( )ﬁ* X 5 5 5
— 25+ /545 —-25+4/705 2
(A5 = (B)x=—"-"- C)x=—"7-"—"" M)x= - =(£13)
10 10 5
13.C DF=z2BBFrHE AT > 0L VA eenT S {eB & 4 7o Bt 2 fke? kA dlik: 00
(M1 (B)7 (©)9 (D)15

14. ( )E & R FALLPS R - RRYE G AHS 20 4 0 F ATy 2500 o e A BE AR 20 X R E Ml X o B AT
FAT 100 ~ > = Fosr fFAL R 23] 49400 ~ 0 Rk G 5B R b ?

(A6 + (B)21 ()25 ~ (D)26 +

FLHMEE2H




15. (

16. (

17.(

18. (

19. (

20. (

YER-¢ " ¥ -BEEL 4o >A 0 - BEA ’““~Z»Fv|@;§]ﬂ/mm7f;}gi{ o hrd K9 fphoo b
BT s BAREEA (Aol M ) o SR FRC ENONA LI IR R AA DEEE S8 ?
() —1++5 (B) —2+2+5 (C) —2+4-5 (D) —4+2+5

2100
B 90
g 80
% 70
% 60
> 50

Z 40 /
---------- 30 /

z ] 20
10

0%
[ — & — 30 40 50 60 70 80 90 100 fREE (47) B(=)

)AL £ 5 82800 4 0 B(Z)3 E 2 A AR A A fedTAE 0 T e K 37
(D580t (7804) g4 2 At 5300 (B2 28 (AE604) A 25 160 4

(C) 4 T0~90 & eh&8 4 £ 75 320 4 (D)= 40~50 » & 4} > feavg o 5 10%
o WE (27)|Z 8k (4)
AH 90
;f{c 70 LW -2 50~55 4
9 60 "
~ 50 — - 55~60 A
404— 3 60~65 B
30 . 65~T70 3
20
b 10~T5 3
O__SS45 50 55 60 65 70 75 80 75~80 1
BE AT g (e ) &3+ ? B )
IR(e )AL Y A EEE S 30 A T B AP H R BA FATAR AR F - R FHIEH T 0 R Ao 60~65 2

TEF A D5~60 x TenF A0 6 A T Akt R § R

MDBETO2 T (77027) chidied 25TenF A0 £.20% (B)ME 55~65 2 7 eh 4 i 25Ty A v H_40%
(OME2 6027 (37 6027) hided 25007 &0 £ 60%(D)HE 60~65 2 7 ek #icp 9 4

VIcHI(T )E N E CFLRAFI € el ffle & 0 B5~60 2 T e A b 23T A Feen 10% 5 60~65 2 7 e A Bk 2FTA g
30% > F2FTA fco

(A)20 + (B)24 (€30 * (D)40 +

) AeBI(2) 0 BERITE 25 i B PG TR WiT A D F S oA AT AR 0 T A i 2 ARD

()£ % 160~170 24 eht fic & 2Freg At £ A%B) £ & 160 24 211 (5 160 24 e 4 F 2Freg A 4 80%
(C)¥ % A 150 = rmﬁﬁf_ffmp A B 10%(D)E B 170~180 2 4 cht #icd 2 Freny 4t §_4%
) BI(-)AB @ 2R FRA L E AT mafp i fior fedT AR 0 ¢ rF kg A 40 T AlAd e i A?
(A)anigir‘i Z(B)6 ? A Fres b (O3 il &t 205k D) TPt rid®&
M 35
7 20 B 30
X 25
E ig 16 X
— 2 //', N 4 ~ 10
4 % 1 5
oLy ~ 0
130 140 150 160 170 180 boros s s
\ S i (B (SN SR Ty
ZEEVE EFRREEITROTSE g () ARS8 B (=)

F2HEE2H



